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            TIME: 2 HOURS   
INSTRUCTIONS: 
 1.   ANSWER QUESTION ONE (COMPULSORY)
                 AND ANY OTHER TWO QUESTIONS


2.  MAXIMUM POSSIBLE SCORE: 70 MARKS

a.
In the context of the case, explain the difference between “information gaps” and “digital divide”.





(5 marks)

b.
With reference to the “Dependency Theory”, describe the status of developing countries on use of ICT.




(5 marks)

c.
“ICT is not a panacea for all the problems of developing countries”.  Discuss.








(10 marks)

d.
Suppose you were appointed to be incharge of ICT in Kenya, discuss five (5) strategies you would use to ensure wider acce3ss and use of ICT in development.







(10 marks)
QUESTION TWO 20 MARKS
a.
Discuss the concept of “Colonial Project”.



(5 marks)
b.
One of the modern approaches to development is regional integration to form trade blocks.


i.
Name two (2) regional integration blocks of trade in East and 



Southern Africa.






(2 marks)

ii.
Discuss why African Integration Schemes have been a failure in the past despite being an important means towards achieving development.






(13 marks)

QUESTION THREE: 20 MARKS


a.
Explain the terms “Development” and “under development”.
(4 marks)
b.
Discuss the following theories of development:-


i.
Growth Theory.


ii.
Marxist Development Theory.




(5 marks)

c.
Using the “Modernization Theory”  Explain the impact of modernization on developing countries.






(6 marks)

QUESTION FOUR: 20 MARKS
a.
i.
Define neoliberalism.





(2 marks)


ii.
Discuss the impact of neoliberalism on developing countries.


(8 marks)

b.
“It is not from the benevolence of the butcher, the brewer or the baker that we expect our dinner, but from their regard to their own interest.  We address ourselves, not to their humanity but to their self-love, and never talk to them of our own necessities but of their advantages.”  Basing on Adam Smith’s argument in “The wealth of Nations”,  discuss the above statement.









(10 marks)
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